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dc simulation

DC1
saveOPs=yes
saveAll=yes

R2
R=10 kOhm

R3
R=1 kOhm

T5
Type=nfet
Vt0=0.33 V
Kp=750e-6
W=5000 um
L=1 um

T6
Type=nfet
Vt0=0.33 V
Kp=750e-6
W=5000 um
L=1 um

T1
Type=pfet
Vt0=-0.33 V
Kp=150e-6
W=25000 um
L=1 um

T2
Type=pfet
Vt0=-0.33 V
Kp=150e-6
W=25000 um
L=1 um

T7
Type=pfet
Vt0=-0.33 V
Kp=150e-6
W=25000 um
L=1 um

T8
Type=pfet
Vt0=-0.33 V
Kp=150e-6
W=125000 um
L=1 um

T3
Type=pfet
Vt0=-0.33 V
Kp=150e-6
W=30 um
L=1 um

T4
Type=pfet
Vt0=-0.33 V
Kp=150e-6
W=30 um
L=1 um

T10
Type=nfet
Vt0=0.33 V
Kp=750e-6
W=6 um
L=1 um

T11
Type=nfet
Vt0=0.33 V
Kp=750e-6
W=6 um
L=1 um

T12
Type=pfet
Vt0=-0.33 V
Kp=150e-6
W=30 um
L=1 um

T13
Type=pfet
Vt0=-0.33 V
Kp=150e-6
W=45 um
L=1 um

R1
R=50 kOhm

I1
I=10 mA

I2
I=1 mA

ac simulation

AC1
Type=log
Start=1 Hz
Stop=1 GHz
Points=28Pr1 1 10 100 1e3 1e4 1e5 1e6 1e7 1e8 1e9
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acfrequency

number
1

T1.Id
0.005

T2.Id
0.005

T5.Id
0.005

T6.Id
0.00457

T7.Id
0.00457

T8.Id
1.27e-05

T3.Id
2.18e-06

T4.Id
2.18e-06

T10.Id
2.18e-06

T11.Id
2.18e-06

T12.Id
2.18e-06

T13.Id
3.28e-06


